3=-20 Determine the indices for the directions in the cubic unit cell show
Figure 3-32.
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3=22 Determine the indices for the planes in the cubic unit cell shown ir
Figure 3-34.

Sclution:

A : X = S 1/ = -1 X 3 = =3 _
¥y = ] 1/y = 2 X 3= ¥ f364) forigin at 1,.0,0)}
B - # 1/2 = 4)3 &3 4

B : X = 1 b 4 1 x 3= 3 _
¥ = -3/4 1/y = -4/3 x 3 = -4 (340) forigin at 0,1,0)
z = a0 1/2 = 0 3= 0

o ol 2 1/ % = = w0 e
y = 3/2 1ly= _ x 6= 4 (3486)
zZ = B I/fz = I X 8= B



3-23 Sketch the following planes and directions within a cubic unit cell.

a. [1011  b. [010] c. [122]
g. (011) h. (102) i. (0D02)
Solution:
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3-29 Determine the Miller indices of the plane that passes through three
points having the following coordinates.

a. 0,0,1; 1,0,0; and %43%4,0

L. %,0,1; %,0,0; and 0,1,0

c. 1,0,0; 0,1,%; and 1,%,%4

d. 1,0,0; 0,0,%; and %,1,0

Solution:

(a) (111) (b) (210) (c) (012) (d) (218)



